AUSSIRAD electronics
Wholly Australian Owned Serving Australia Best!
15 DUNTROON AVENUE, EPPING NSW 2121

P.O. BOX 1014, EPPING NSW 1710 SYDNEY AUSTRALIA

PHONE: (612)02 9876 6906 FAX: (612)02 9876 6911

Inventory Count Sheet

~ Page 1
Item # Item Name On Hand Units 2nd Count
12.5PC16BU 12.5PC16BU 10KA (Bush)
1 1
15PC16BU 15PC16BU 10KA (BUSH)
10 1
15PC16BU100K POT15PC16BU.100KLRLGC
1 1
4A2R POT4A2.S switch dp only
1 1
A10EP10-L (SETS) ACME Core Set EP10 -Mir Fi
1,570 1
A10RM10(L) A10RM10 LAPPED CORE A
0 1
A10RM6-L A10RM6 CORE-mirror polish
0 1
A10T18X10X9C TOROID ACME-COATED
15 1
A10T31X19X13C TOROID A10T31X19X13C-C
14 1
A10UU A10UU10.5
20
A10XT29X19X15 TOROID A10X19X15.2 ACM
20 1
A12RM5(L)- A12RM5 CORE"L"mirror finis
0 1
A10T29x19x15.2C-ACME TOROID A10T29X19X15.2C
0 1
BOB1.1 BOBBIN BEP-17-318D
0 1
BOB3 BOBBIN BEP-30- 8112D
0 1
BOB4.1 Bobbin SM BE-5-916F EE5
0 1
BR16BU BR16BU 10KA (incl. brkt.)
1 1
BR20BU/PCIS POTBR20BU/PCIS
1 1
BR20SP POTBRSP SPINDLE P/IN
1 1
BR2G20BU POTBR2G20BU
1 1
BR82 AUS BROCHURE
8 1
BUZ74 TSTR.BUZ74
50 1
C.00047 - CAP 47PF CER 5MM
70 1
C.1000PP 0.001UF+/- 5%15MMP 1.6/2
10 1KAM
C.1500PP 0.0015UF+/-5%1500VDC5X1
0 1KAM
C1000TBSJE RH25V108M10X21TB5mm E
0 1
C11 CAP 1UF /35TANT 5mm pitc
0 1
C22.1 CAP ELECT 22UF RB 450V
299 1
C3.1 CAP CER 0.1UFZ5U MON 5
0 1
C3.2 CAP O.1UF 63/50V X7R2.54
0 1
C3.20405 CAP 10nF 50V CER
20 1
C3.2054 CAP MET POL.0022uF 400V

1,000




AUSSIRAD electronics

Inventory Count Sheet

Page 2
Item # Item Name On Hand Units 1st Count 2nd Count
€33 CAP 0.1UF250VAC X2 MKP
1,000 1
C3300U/10/50 CAP ELE 3300+/-10% 22x31
0 1
C3300UF/20/50 CAP ELEC+/- 20 %P10mm 2
601 1
C4.00008 CAP. 8.2PF 50V CER
190 1
C4.001 CAPRBE1UF63V5x11 2mmP
945 1
C4.01 CAPRBE 10UF 50V5x11 2m
100 1
C4.02 100UF 25VDC SAMHWA
375 1
C4.047 CAPRBE 4.7UF/63V5x11 2m
100 1
C4.1 CAPRBE 22UF 25V 5x11 2m
100 1
C4.2 Cap 2UF 400VAC
1 1
C4700UF/20/50 CAP ELECT SJE P10mm 25
602 1
CAB 1 CABLE ASSBLY BLACK
1 1
CAB3 5 PIN DIN CAB1.5M-Special
0 1
CAB3.1 CABLE 5PIN DIN-SPECIAL
1 1
CASE11 CASE METAL+LID
300 1
CP604 BRIDGE 6A SQUARE TYPE
3 1
DBRGO02 Bridge Dil 2A 200VAC
2 1
DBRG6 BRIDGE KBU6J
2 1
DOD1 DIODE STUD SW12PCR012
0 1
DOD44 IN4004 LOOSE
60 1
DOD5 DIODE IN4148 /914
0 1
DS80C310 IC
1 1
FEAC1 CLIP PAIR FEP-17-C
0 1
FEAC2 CLIP PAIR FEP-30-C
54 1
FEC100MRT2 CHOKE C8 R6H 6X109(w)2.
19 1
FEC100MRB3 CHOKE C8 R6HB6X10(w)3T
19 1
FEC3.1 CORE TDKH5C2EP17-Z AL
900 1
FEC3.2 CORE H5BEP30-Z AL18000
5 1
FEC3.21 DN50EP30-Z CORE
3 1
FEC3.3 PC40EP30-Z CORE
0 1
EEE@S CORE J2 ETD28
1 SLF 1
FN20BU POTFN20BU
1 1
FTF10 FUSE THERMAL 119DEGC
2 1
G1 GROMMT.GRIP H2098/150

75




AUSSIRAD electronics

inventory Count Sheet

E - Page 3
7 ltem# Item Name On Hand Units 1st Count 2nd Count
1C11.027 IC 4027 DUAL JK FLIP FLOP
1C11.028 IC 4028 BCD TO DEC. DEC =
1C11.029 CD4029 UP/DOWN CNTR. s
1C11.030 CD4030 QUAD EX.OR e
1C11.0301 LM301 OP AMP i
500

1C11.0538 CD4538
IC11.0555 LM555CN OR EQUIV >
IC11.0556 NL556 DIP IC =
1C11.0567 LM567 TONE DECODER .
ICDACZ IC DAC1232L.CJ =
ICM3.1 IC M27C256B-100NS EPR =
ICR1 IC LM317T ADJ REG. e
J2ETD39 ETD 39 CORE AL2550 -
K1 KNOB 25mm Taper 3-6mm C :
K2 Knob 24mm taper/16mm 6.3 X

2,000
KBPC1504 BRIDGE 15A 400PIV -DC
KBUBJ BRIDGE 6A -INLINE- 5MM b
KBU8M- BRIDGE 8A 1000P1V INLINE 1
KEY1 KEY BARREL ON/OFF 12VD :
KIT1 NEC RELAY KIT SAMPLE X
L10 CHOKE 100uH-AXIAL-PITC :
LA16BU POTLA16BU10KA&470KA -
LA20BU POTLA20BU . 1
LA20SP POTLA20SP 1
LAB1 LABOUR/CABLE :
LCD10 LCD MDLS20265HVGLED04 :
LED2 'LED 3mm RED low current .
LED2.1 LED 3mm GREEN low curren o
LED2.2 LED 3mm YELLOW low Curr r
LEDB1 LED/CHROME BEZ 5MMRE il 1
LEDB2 LED/CHROME BEZ5MMGR .
LT20BU POTLT20BU &
LT20BU/OWIS POTLT20BU/OWIS 1
LT20ST TPE1&3 POTLT20ST TPE1&3P/IN :




AUSSIRAD electronics

Inventory Count Sheet

: o Page 4
= - Item # Item Name On Hand Units 1st Count 2nd Count
LT20ST TYPE1 POTLT20ST TYPE 1,SPINDL
LT20ST TYPE2 POTLT20ST TYPE 2 :
MC7805CT IC REG -MOT !
200
NEON1 NEON-110VAC -QC
NUT-RING M10 BRASS SLOTTED-SPE :
OMC1 OMEG Catalogue :
OW16BU/OWIS4K7B POTOW16BU/OWIS :
OW16BU470K POT OW16BU470KA-Special -
OW16BU470KA OMEG POT MET BSH M10X 2
OW16BU470KA NY OMEG POT BSH M10X8 :
OW16BU4K7A POT.OW16BU4K7A0.25W-S :
OW16ECO POTOW16ECO 1K OHM :
OW16ECO/N4OW OW16ECO/N4OW2SCH10K !
OW16ECO10KB/B1OWIS POT 10KBLOG ROTARY SW ;
OW16ECO470KAS Special ECO-TRIM POT =
6,400
OW16TT POTOW16TT
OW1R POTOW1R-SWITCH 1
OW20BU POTOW20BU 1
OW20BU 470KA NY OMEG BSH M10X7MM ;
OW20BU/4A2SO0 POTOW20BU/4A2S0O0 i
OW20BU/OWIS POTOW20BU/OWIS !
OW20BU470KA OMEG POT MET BSH M10X 1
OW20BU470KC POT.LOG.Spind.F1-15mm Ln g
OW20TT POTOW20TT £
OW2C16BU470KB POT CONCENTRIC 1 1
Ow2G16BU POTOW2G16BU X
OW2G20BU POTOW2G20BU 1
P-1550 5 PIN DIN PLUG LINE :
P4EFD20 CORE -ACME =
P4EFD20G100 P4EFD20G100- ACME .
P4EFD25 EFD 25 CORE ACME &
PC16BU/PCIS POTPC16BU/PCIS -
PC16BU/PCIS47KC POT47KC REV LOG OMEG - ;

PC16BU+7MMBKT

POTPC16BU+7MMROUND




AUSSIRAD electronics

Inventory Count Sheet

Page 5
Item # Item Name On Hand Units 1st Count 2nd Count
PC16BUCEP10% 470KA+/-10% BUSH M7X6M
1
PC16ECO (2) POT16ECO (2) 10K OHM
1
PC16ECO100KA POT100KLIN +/-20% PCB G
0
PC16TT POTPC16TT
1
PC20BU POTPC20BU
0
PC20BU/B40W2S Switched 4A 470KA NYLON
151
PC20BU/PCIS POTPC20BU/PCIS
1
PC20BU/PPMS POTPC20BU/PPMS
1
PC20BU470KA POT BUSH M7X9MM SPIN.4
70
PC20BU470KA- BUSH-C M10X0.75X9mm Me
2
PC20TT POTPC20TT
: 1
PC2C16BU470KB CONCENTRIC POT
1
PC2C20BU22KLOGB POTPC2C20BU
2
PC2G16BU10KB POT PC2G16BU10KB
1
PC2G20BU470KC POTPC2G20BU470KC
1
PC3C16BU POTPC3C16BU
1
PCL1466 PROBE
212
PCL1470 COVER -BLACK
102
PCL1472 COVER-BLUE
117/
PCL1473 COVER -GREEN
17
PCL1475 COVER -GREY
s 17
PCL1476 COVER-BROWN
A7
PCL1477 COVER -YELLOW
17
QC1 QC RECEPTACLE H1972/15
150
RES11.0 OR CARB FILM RES 1/4W 5
15,000
RES11.00039 39R 5% 1W CARB FILM
20,000
RES11.00047 47R MET 1/4 1%
130
RES11.00100 100R MET 1/4W 5%
480
RES11.0011 1K 1/4W MET 5%
3,480
RES11.00120 120R MET 1/4W 5%
490
RES11.00121 1K2 MET 1/4 W 5 %
490
RES11.00122 RES MF 2W 120R 5%
25,000
RES11.0015 1K5 1% 0.4W .
493
RES11.0022 2K2 1/4W 5%

440




AUSSIRAD electronics

Inventory Count Sheet

Page 6
Item # Item Name On Hand Units 1st Count 2nd Count
RES11.00220 220R MET 1/4W 5%
0
RES11.002201 220 R MET O.9W 1%
0
RES11.00330 330R 1/4W 1% RESISTOR
; 0
RES11.00331 330R
0
RES11.0047 4K7 1/4 W 5%
480
RES11.00470 470R MET 1/4W 5%
490
RES11.008208 CF 1/8W 820R 5%
15,000
RES11.011 10K 1% MET 1/4W
240
RES11.015 15K 1/4W MET 5%
40
RES11.0271 RES 2K7 1/8W 5% CRT/B
20,000
RES11.0471 47K MET 1/4W 5%
490
RES11.11 100K 5% MET .6W
0
RES11.12 1M MET 1/4W 5%
5,200
RESC11.0027 RES 2K7 1/8W 5%CR
30,000
RESN1K2.125W RESISTOR NET 9PINSRES
1,000
RESN3 RESNET 100K 9PIN 8RES
175
RS202 BRIDGE 2 A INLINE
2
SA5.0AT/R TRANSIENT VOLT SUPP
4,000
SA5.0AT/B SA5.0A T/B --AMMO
0
SwWi1 SWITCH 240VAC 20 A ROC
0
SW2 RKR CARLING-SPTT-CTR-OFF 2
800
SW4 SWITCH 3A 250VAC- SLIDE
321
SW5 SWITCH SLIDE ARROW 1A
79
SW6 SWITCH MOM.BLK 125V 3A
300
SW6.1 SWITCH MOM. RED 125V 3
150
TBR
0
FE1d Terminal QR/P1-SC2A-111
100
TPE1 Tape all
0
TS7 Transistor IGBT GT15J102
100
W-2039 4 CORE FLAT-100Meters
0.5
W10M DBRIDGE 1.5A 1000V
3,950
WA16BU WA16BU (Bush)(wire wrap le
1
WRLIKTAPD TAPED WIRE LINK 0.6mm T/
0

XA16BU/OWIS

POTXA16BU/OWIS




AUSSIRAD electronics

Inventory Count Sheet

Page 7
Item # Item Name On Hand Units 1st Count 2nd Count
XA16ECO/N4PCI POTXA16ECO/N4PCIS
XA16ECO/NIOWI POTXA16ECO/NIOWIS 1
XA16ECO1 POT.SW XA16ECO/N1PC1S 1
XA16ECO100KA/10APP POT XA16ECO100KA/10AP °
XA16ECO2 XA16ECO/N4PC1S 4AMP S. 1
XA16ECO3 XA16ECO/N1PC2S 1AMP D. 1
XA16ECO4 XA16ECO/N4PC2S 4AMP D. 1
XA16ECO47KB/10APPL XA16EC0O47KB/10APPL PU 1 1
XA20BU/OWIS POTXA20BU/OWIS 10
XTAL18 CRYSTAL 18.432MHZ QC49 1 1




